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A: 
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, rounded up.  
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B:  Note that 2006 prime factors as 
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.  Add one to all the exponents in the 
      prime factorization, and multiply the results together.  
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C:  There are normally 
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 linear arrangements of n elements, but since the zeroes 
       are not distinct we must divide by (their number)!   So  
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D:  Keep dividing by 5, and add up the truncated quotients, until you get zero.       
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2. Let 
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3. If the number is abcd, then the conditions give the following respective equations:
· 
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                                 Substitute! Then    

       And from there it is trivial to find that the number is 3916.



4. Guess what?  Use the Rational Zero Test!  Factors of the constant over factors of the leading coefficient.  So all possible roots are 
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.  Plug ‘em in, and use synthetic division if you wish to depress the polynomial as you go.  The set of actual roots, set R, is  
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 (-1 is a double root) with a median of 
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 as set T, with a range of 12.  The product is 6.


5. Since the degree of the numerator is less than the degree of the denominator, the horizontal  asymptote is 
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.    The function has 3 vertical asymptotes (
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(#5 continued)  The roots occur when the numerator is zero, at 
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, so the hole occurs at 
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6. 
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8. By Cramer’s rule, the bottom matrix is the coefficient matrix, and the top matrix is the 
coefficient matrix with the y column replaced by the constants.  So the matrix ratio 
(with the desired numbers enlarged) is shown, and the sum is 9.




9. The slope of the given line is 
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The slope needed to get the point (5, 0) on the line is 
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10. Half of each diagonal forms a leg of a right triangle with the side as the hypotenuse, in this case a 6-8-10 triple.  So the missing diagonal is 12, and then A = 
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    If the short leg is 
[image: image59.wmf]63

, then the long leg is 
[image: image60.wmf](

)

(

)

63318

=

, and the area is 
[image: image61.wmf]1863

543

2

=

g

.
    The radius is 
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    The semiperimeter is 8, and the area is 
[image: image64.wmf]8(84)(85)(87)46

---=

.

[image: image65.wmf](

)

(

)

(

)

5432246

27

96

BCD

A

p

pp

==

.



11. A = 7 (all but 
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12.   Unit conversions!  Make sure they cancel.  
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